
Total Weight: 85Kg

Attach the parts with the stainless steel M10 hexagon bolts, stainless steel washers, nylon washers and M10 nuts. Apply a small amount of copper grease to the bolts.

If your product is equipped with Mounting Clips, these must be attached with the supplied mounting instructions.

Subsequently, the Cumaru wood will not require any maintenance.

After you have assembled the product, the fibres of the Cumaru hardwood may feel slightly rough. We advise sanding the Cumaru wood very lightly with the supplied sanding paper.

You can use these assembly instructions to assemble your PicnixX product.

Assembly instructions – maintenance instructions

Index Revision Date Name

Scale: 1:VAR. Material:

Assembly instructions – maintenance instructions

Measure: mm

Miss Mini

Conservation:

Stainless steel

Projection     (NEN 2351)

Client:

Reference:

Created:

Checked:

Date:

PicnixX

R. Alferink

12.03.2024

-

-

-

-

-

-

-

-

-

-

-

-

Powder coated

Colour:

RAL 7024 (dark gray) / RAL 9016 (white)

Tolerance class conform NEN-ISO 2768-1:

Manufacturing conform: NEN-EN1090-2:2008+A1:2011

Realization class: 2

m
Tolerance tables in EPCS

Fasten with stainless steel bolts.
Tap bolt M10x25, stainless steel washers, nylon washers and nut M10.
Fasten with stainless steel bolts.
Tap bolt M10x25, stainless steel washers, nylon washers and nut M10.


